10

24-1R-25 8 1467
2 4105
SD348, D1 kg 8 80.
SD346, D1 kg 859
SD3483, D2 kg 15384).
1 5x023 m 1367
t =208 m 2 1088 (0.24m




(24-12-25N

4 6. 1x60m@3 = 1358
(4. ¥xB8840-x00..2208 2 R 0 .52 = 0.04 n8
(5. %0884 0 -x00..2200% 02. p2 = 0.15n8

> = 14678

KR EfH

A=46. 16m2 \




&

5.

5.

( 0.%x220+ 4 . 1 3 8x+20+ 32.8%¥36 85

(0.

6%008. 03

5x404. 03

20+0.

40+5.

1 3x80+.62. 2 8 3 +=4 .

> =

3312n2

1.86 n2

1.66 n2

2 .12 n2
9 328.47 n2

410 5n2




D3

D&

D2

Al
Al

A2

Al
Al
Al
Al

A2
A2

, SDB45
(3)
(3)
(3)

(1823

(t =23 mm

8 80. kg
850 .kg

15 384 kg

AT N2
.05 n2
.72 n2
.16 n2

OoONODN

w

.66 n2
0.06 n2

108 3n2
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2 H=85 .22
M2x26 0 0 , 2

N, WV 18

.22




2x 4

2x 5

(MRBOO,

,2-N)2-W

H=8)50

4 .80 m

5.41 m

9.22 m

10

18

5.41 m

9.22 m



234 m

0.

10

.12

.53

.57

.75

.72

14

. 89

1247

21-8B408B

6cm

3cm

=2 m

t




(21-8)40BB
1
(0. 08m2 +x00..2267m?2 )

A2
0. 4%¥m229

0. 2x717. 07 7x (0. 11¥0. 30

0.2x917. 07 7x(0. 414%¥0.315

0.0860. 2

A2

3.78Mm234

0. 2%¥m232

.90

.21

.12

.21

.32

.53

.43

.14

.57

.45

.30

.75



Al ('t

A2 (t

6)0 mm

4)0 mm

3. %0 . 06 +x40..800

0.57%20.

(t =20 mm

3.77 n2

4 .05 n2

8 .72 n2

0.14 n8

0.8 n8

7 .35 n2

4 .17 n2

1242n2
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18-8B258B B 0.47
24-128 25B | n8 0.15
2 7.21
2 1.40
SD3483, D1 kg 543
18-8B40B B 0.55
2 1.04
1
1
U

L L=050 2
2 5 .65

PU3B 0




B (
C (

D (

. 84 +0x.19.26) / 2
. 95+0x09.6D)1Y 2

. 96+ 1x.00.83)5 2

. 60+0x06.01)1/72+ ( 0. 6x00+03.865) / 2

(18-8)25BB

o

. 5x4(70. 658+20. 70) /
+(1.083+%02043)/ 2= 0.48nm

0. 8b60. 473+0. 51x60)./521+0. 041
+(1.039+%01089)/ 2= 0 .47 n2

0.560. 473+0. 51x50)./521+0. 29 2
+(0.788+809048)/ 2= 0.77n2

0.560.658+0. 78pP[0Z+0. 351
+(0.729+8608089)/ 2= 0.49m

o

. 9x001. 70+ (0. 728 60048 8 90). 692n2
0.800.30+0.505)0.85+0. 007
+(0.729+8608089)/ 2= 0 .06 n2

o

. 9%x207. 70+ (0. 708 6 0048 6 30).692n2
0.800.30+0.505)0.85+0. 027
+(0.703+808033)/ 2= 0 .06 n2

o

. 9%x607. 70+ (0. 79 % 60049 5 11).802n2
0.800.30+0.505)0.85+0. 067
+(0.791+8090381)/ 2= 0 .56 n2

1. 0x003. 70+ ( 0. 8726 1040 3 21).802n2

.74 +0x17.81) / 2 =

. 547 + 0x 18. 8566) ./ 528 =

. 8 8 6 + 0x.09. 8420) . 012 =

1.44n8

0.11 n8

0.63n8

07 8n8

08 1n8

012n8

0 4 0n8

0.16 n8



(0.

(0.

(0.

0. 2x106. 4 73 x0. 280

0. 6. 415%x0. 80

2 0+ 0x.0L.57) / 2

2 = V+ ¥ 0.63+0.1

(24-12-25BB

0. 5x4(70. 142+20. 10) /

+(1.243+%¥02083)/ 2

0.560.142+0. 18p/02

+(0.889+809029) / 2

19+ 0x11.96) / 2

1. 5x606. 2 4

1.50.02

22+ 0x.03.67) / 2

2 = V+ ¥ 0.30+0. 2

+

0.02 n2

0.51n2

0.91n2

0.22 n2

0.03 n2

0.31n8

0.31n8

0.47 n8

0.13n8

0.13n8

0.02n8

0.02n8

0.15n8



1-1
0. 5<(70. 473+0.515)/ 2+x0L.04083+1 =243)0/.47 n2
2 -2
0.560.473+0. 51x50)./521+0. 041

+(1.039+%01089) / 2 = 0 .47 n
3- 3
0.560. 473+0. 51x50)./521+0. 29 2
+(0.788+809048) / 2 = 0.77 m
4 - 4

0. 9x0(10. 558+0.60)/2+&0.0429+0. 89) /0258 n2
7-7
0.900.30+0.5090.05+0. 067
0

+(0.791+809031)/ 2 = 0 .56 n2
8- 8
1.0x003. 70+ (0. 8726104032)/ 2 = 1.80 n2
7
1.8Q2. 658%0. 70 -x10..1357
- 0.x300. 30-x10..5158 5x0.04 4 = 0.34n2
(1.62+801243)1*%x0.431x0. 28
-(0.117%0. 3283) = 0.33 n2
0. 8x806. 0 8 5 +x00..018 2 = 0.71 n2
A = 5.67 n2
0. 7x5(90 . 473+0. 4%xb6pD/ 2F0+B7415) F 0.8 n2
0. ¥70. 473+0x2415)/ 2 = 0.8 n2
A = 1.63 n2
2 = A+ A 5.76+1.3 = 7 .21 n2



1-1

0.5470. 142+0.10)/2+&0.0243+1. 283) /0291 n?

4 - 4

0.560.142+0.18Pp/02+0. 351

+(0.889+809029)/ 2 = 0.91 m

RaS

1.60. 24 = 0.32 m

1.60.80 = 0.71 m
A = 0.87 m

0. 7x5(90 . 14242 . 20) / = 0.31 m

0. %70.142+20.20) / = 0.31 m
A = 0.62 m

S = A+ A 0.78+0.2 = 1 .40 m
( , SDB 45
D3 38. + 163 = 5 4 0 3kg
(18-8)40BB

(1. 83+1x 08.7%W.27 = 0.23 n8

(1.79+1x083%0/.27 1 = 0.20 n8

{(1.79+1.83)/ 2+ ( 2x01.0%0+285145) 2}/ Q.9 n8
Vo= 0.34n8

(1.666+%x06EPp/02 = 0.21 n3
Vo= 0.21 n3

2 = V+ ¥ 0.4232+0.1 = 0.55 n8



(1.

(1.

(0.

1.

(1.

(1.

8 3

79

. ¥0.

. ¥0.

75

87T.

8 3

66

2

+1x.08.78) @ 2
+1x08.30)0/+2( 2. 10586201145) / 2
1 0 +x00. . B17

108+ (0. 1x107.+800. 55 2)

A
9%0.0I7)

A

= A+ A 1.25+0.1
(L=500

7 2 +x10. . 8731
+2x048%/ 2

A
6+%X0651) / 2

A

= A+ A 4.33+1. 2

.73

.93

.32

. 62

.52

.51

.51

.04

.09

.33

.32

.32

.65

B B B R B

=3

=3
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PU30O0B ( ) = 0.57 m
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1560

79 6E200=1200 75 {00
N
e @ma
% ““-""-!-__
o | E) i
200 1150 200
1550
t =186H0m
24-12B . 547 +0x08.816)/ 2 0.00 0.02
(JS B 10 10
1209
86+ 1. 5x500.810. 547)
8 601 0.25 0 .57
(SD345%, 4 3 4 3
(SD345%, 1 35. 1 35.




1566
216 1150 200
101 75 68200=1200 7s 112
.I'I' I I i F J'; .I" .
o /A N i~
~ i 4 [ 177 # %‘gg
() ps [ JJ T T T g ="
L ri i r i r I 1
l;! I I 1 I‘!J' :fl’ ,1 ;‘ L
\[ %
D16
16. 1150 .200
1510
t =180m
24-12B 258(1.51+1xB668pI/[82 0.80 ° 0.12
(Js cC Ne 10 10
1409
AA(0. 77+8078%59) 0.87 °* 0.82
(SD34%, DW3 47 47
(SD34%, DW6 1 47. 1 47.




10. 0m
400
U {8152 (PU-3008) 0, 300 o
(C=600) | |
U2 485% (PU-300B)
2 R R (L=600)
=i A
3 8]
e ﬁ BELZILA:I)
S L
' | EHEH (RC-40)
10. 300 . 50
450
U PU-300B, |, W=79kg/
(L=pO00 N=10:0.06 1 65. 1 65.
U PU- 30,0 , W=56kg/
(L=p00 N=10:0.06 1 65. 1 65.
(1) 3 V=0 . 3x000. 0x31000. 0.09 ° 0.90
( RC- 40,)t =Ax 0 c 4x51000. 4.80 °2 4 .05
A=0 . 4x51000. 4.80 ° 4 .05
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V W7 2.23
vueo 6 .17
vueo 1.03




V W7 = 2.23 m
vVuoo 2.35+2.422+2.1 = 6 .17 m
vueo = 1.03 m



10

) As ()1 B !
=0 m n® 11902
D

M-30, m=3p% 1197




( () As(13),)t=40mm

Al :4.030+2.9 = 6 .39 n2
A2 = 4 .63 n?
> = 1192n2

( M- 30, t)=30mm
Al :4.030+2.9 = 6 .39 n2
> = 1192n2



I

3 3

10

n8 1175

n8 0.39

Gr -B8-2 m 9 .06

Bi t 0.61

t = me m 130%

¢ = e ne 1105

n8 1175

n8 0.39

n8 0 .64
PU3B 0 m 0 57 Wl;l;gkg
PU30O m 0 57 Wl;l;ékg
V W67 m 2.23 V=0.060
vuao m 6 .17 V=0.060
vuao m 1.03 V=0.060

U7




2 3. 2x00m32 = 5.08 n8

Al

A2

21. 3x10mZ21 = 3 .26 n3
0.80. 405.57¥%¥6.30 = 1.24 n3
0. ¥0. 88.09 = 0 .40 n3
0. 2% @254 = 0.15 n38
(0. 06 m2 +x01..084 m2) = 0.81 n3
2 = 117 5n8
( )

0. 38 @254 = 0.39n8
= 4 .75 m
= 5.30 m
2 = 9.06 m
9. 6x01In6 . 4 mk g/ = 13 kg

( ,t=%cm
5.2382.7 = 8.10 m
= 5.9 m

1305m



( ,t=%cm

A1l 4.39%22.9 = 7 .03 n2
A2 = 4 .02 n2
s = 110 5n2
= 11758
= 0 .39 nB
1 1 .x500. 40 = 0 .64 nB

U ( )
U = 0.57 m
U = 0.57 m
V b7 L = 2 .23 = 2.23 m
V=(n/40.08ar80. 0842228 = 0. Qons
Vueo L = 2.35+2.422+2.1 = 6.17 m
V=(n/40.11#4f80. 108621y = 0. 0 O0n8
vueo L = 1.03 = 1.03 m
V=(n/40.216/820.208% 208 = 0. 60n8
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